REERBEMEGHRE=4) /AT (EREFEIE HFHR
TR 24428138
[RF DK EBR xR A (RGHRIL)
EERKEREARL (RFAHU)
O RIBEEHEFH BEBREK)
A REBEEERRIFELE
BEES ZREREE(uSv/h)
- 50cm BeE-ERESIH 1T 55 A (TBRURR) & Tl S iR
; 3 B ] = e
No.| HETH | B % EREATR A8 | o |Em|mmal @ _HIE | kiR £
thik Q|Q|@| O |FHiE|RAEMER
1m (FFH1E)
50cm 0.15 0.11 0.20 (0.22]0.22(0.22|0.21 0.21 0.22
1220 HIEEH | REE |[EHREER 98268
Tm 0.18 0.18 0.20
50cm 0.16 0.12 0.18 {0.22|0.24(0.22|0.26 0.22 0.24
1221] JLEEA | HHE |[EEMISKOHHE 9A 268
Tm 0.18 0.18 0.22
50cm 0.22 0.18 0.43 (0.45/0.34/0.30|0.40| 0.38 0.50
1222| JLIEEFA | HHE |[EREMIREHEHHE 95268
Tm 0.39 0.39 0.45
50cm 0.26 0.13 0.27 |0.25|0.25(0.28|0.32 0.27 0.32
1223| JLIEEH | R [HEEMIES IR 9F26H
Tm 0.26 0.26 0.28
50cm 0.21 0.21 0.17 {0.22]|0.18(0.19|0.23 0.20 0.30
1224| JLIEEA | PR [EEM RS NEE (98268
Tm 0.17 0.17 0.18
1225 duigm#t R | JLERMILE — P ER 9A268 m 0.25 0.16 0.21 {0.18|0.27(0.34|0.25 0.25 0.29
1226| duigm#t =t Sl B [ o = o Ry Ri e e b o 9A268 m 0.30 0.12 0.29 [0.33|0.46(0.36|0.36 0.36 0.39
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